Y& Maths Kvuowledae Oraaviser Topic G Averanes

wWhat must T be able to do?

Key vocabulary

0 Find +he mode Average | A Value that is representative of a set of data. The mean, median
Sparx M4 and wode are all 1ypes of averave.
0 Wedian Wean A single value used to represent a set of numbers. The mean is
Sparx Ma24 calenlated by taking the sum of the set of numbers and dividing by
1 Find the mean average, the amount of uumbers in +he list.
interpreting average as “total Wedian | The middle value, whew a list of numbers is written in ascending
amount + number of items” order. Tf there is an even amount of numbers, the mediam is the
Sparx Ma4p mean of the two middle numbers.
11 Reverse mmean duestions Wode The value that occurs the most in a set of values. The values do
0 Solve word problems involving not weed to be numbers,
averages Range | The difference between the highest value and the lowest value v a
Sparx M440 set of vumbers. Calcnlated by subtracting the smallest from +he
0 Range highest value. The range is a measure of spread, vot an average.
Sparx M32%
O Compare using averanes
Types of averages ' Range '

e.0). Givew this list of vumbers 2, 7,5, 4, 7

WMean: 2 +7+5+4+7=206

20+5=52

The mean value is 5.2

Wedian: First, write in ascendivg order

Ba4sit

The median value is 5.

Mode: The number which appears the
most is 7. (F appears twice)

The wodal value is 7.

Ouly 5 in
+he middle

e.0. Given this list of numbers 7, 4, 3, 5

WMean: 7+Q+2+5=24

24 +4=0

The meaw value is @

WMedian: First write in ascending order

5and 7 n
’ 6I /
> _i 0]4 the middle.
The median value us ¢ 5+7=12
12+2=0

Mode: Each number appears an equal
number of times (ouly once)

There is o wode.

e.0. Given the list of vumbers 3, ¢,10, 2,5, & the ravge is the largest
(10) sultract the smallest (2). 10 - 2 = 7. The range is 7.

Comparing data

wWhew comparing data ou should write two statements, ove comparing aw
average (mean, median or wmode) and avother comparing the spread

(ravae).

£.9. Joe and Emma are testing frisbees. They each throw their frisbee 3
fimes and weasure how far it travels in metres.

Joe’s results are: 13.2, 17.6 and 11.5
Emma’s results are: 14.5,132.9 and 14.9. Compare the results.
Joe’s mean average: 12.2 +17.6 +11.5 =423 42.% =2 =144m
Joe’s range is 17.6 = 11.5 = GAm

Emma’s mean average: 145 +13.4+14.9 =432 432+ 2 =14.4m
Emma’s range is 14.%9 - 1249 = 0.9.

So, on average Emma’s frisbee went further as 14.4 > 144,

Emma’s frishee was also wmore consistent as her range was ovly 0.9 while

i Joe’s range was GAm.

Reverse mean questions

with these you veed to find the total amonnt by working backwards, T+
usually involves multiplying the mean by the wumber of values.

.0, The meav height of 4 basketball players is 1.52m. A 5™ plaver joins
who is 1.96m tall. What is the new mean height of all 5 plavers?

First, find the total height of the original 4. 4 x 1.8 = 7.52m
New total height is therefore .52 +1.96 = 4.4%m
New meaw height is 4.4 + 5 =1.2506m




